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No person is eligible for being appointed as President of India unless he has completed the age of
1) 50 years 2) 40 years 3) 35 years 4) 45 years
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Select the correct statements.

A) K. T. Shah was main rival candidate in election of President, 1952.

B) N. Sanjeeva Reddy was main rival candidate in election of President, 1969.

C) T. N. Sheshan was main rival candidate in election of President, 1992.

Answer Options :

1)Only A, B 2)Only B, C 3)Only A, C 4) All of the above
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Who administers the oath of the office to the President of India ?

1) The Prime Minister 2) The Vice President

3) The Chief Justice of High Court of Delhi  4) None of the above

TR IFYCll AT grearel! o careal UG ISi=MT §9s 2Tebala.
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The President of India may by writing under his hand addressed to the resign his office.
1) Chief Justice of India 2) The Election Commissioner

3) Vice-president of India 4) Prime Minister of India
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Consider the following statements regarding the electoral college of the President of India.
1) Elected Members of both the Houses of Parliament.

i1) Elected Members of the Legislative Assemblies of States.

1i1) Memers of Legislative Councils of States.
iv) Elected Members of the Legislative Assemblies of the Union Territories of Delhi and

Puducherry.
Which of the above statembet/s is/are correct?
1) Onlyiandii 2) Only 1, 11 and ii1 3) Only 1,11 and iv 4) Only 1ii
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Chief Minister of a State in India is not eligible to vote in the Presidential election, if
1) He himself is candidate in election

2) He is yet to prove his majority

3) He is member of the upper house of the State Legislature

4) He is a caretaker Chief Minister
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Who decides the disputes regarding election of the President of India?
1) The Supreme Court 2) Supreme Court and High Courts
3) The Parliament 4) The Election Commission of India
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Select the correct statement/s.

A) In 1986 President Zail Singh exercised the pocket veto with respect to the Indian Post Office

(Amendment) Bill)
B) The President has no veto power in respect of a Constitutional Amendment Bill.
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Answer Options :
1) Only A 2)Only B 3)Both Aand B 4) None of these
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Which of the following statements are correct with regarding to the Vice-President of India?
1) He should not be a Member of House of Parliament or a House of the State Legislature.
i1) He should be qualified for election as a Member of the Rajya Sabha.

111) He should be a citizen of India.

Answer Options :
1) Only 1 2)Onlyiandii 3)1, 11 and 1ii 4) None of these
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Which of the following statements are correct?
1) Article 74 deals with the status of the Council of Ministers.
i1) Article 75 deals with the appointment, tenure, responsibility, qualification, oath and salaries
and allowances of the Ministers.
ii1) Article 76 the Council of M

Answer Options :
I)iandii 2) ii and iii 3)1, ii and iii 4)iii and 1
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Which of the following Prime Ministers of India were Members of Rajya Sabha?

A) Indira Gandhi (1966) B) Dr. Manmohan Singh (2004)

C) L. K. Gujral (1997) D) H. D. Devegowda (1996)

Answer Options :

1)Only A, B, C 2)Only B,C,D 3)OnlyA,C,D 4)Only A,B,D
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Study the following statements.

1) The Council of Ministers holds office during the pleasure of the President.

11) The Council of Ministers continues in office on the basis of majority support of the Lok Sabha.
Answer Options :

1) Only 1 is correct 2) Only ii is correct
3) 1 and i1 bothare correct 4) I and i1 both are false
GTeflet fem e e
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Consider the following statements :

a. The Council of Ministers in the centre shall be collectively responsible to theParliament.

b. The Union Ministers shall hold the office during the pleasure of the Presidentof India.

c. Itis duty of Prime Minister to communicate to the President about theproposals for legislation.
Which of the statements given above is/are correct ?

Answer Options :

1)Only a 2)bandc 3)aandc 4) All

3) YRATE FE=IR—ATe!

TR AT DU HAHFIY IFARTGRT TRATAT Fg=Iargt (Attorney General of India)
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Under which Article of the Constitution of India, the Attorney General of India (Amendment) is

appointed by the President?
1) Article 52 2) Article 63 3) Article 76 4) Article 148
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Who is considered as the highest law officer of India?

1) Advocate General 2) Chief Justice of India

3) Minister of Law and Justice 4) Attorney General of India
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Consider the following statements (Comptroller and Auditor General - CAG).

1) The Constitution of India (Article 148) provides for independent office of the Comptroller and
Auditor General of India (CAG).

i1) He 1s the guardian of the public purse.

111) He controls the entire financial system of the country at both the levels - the Centre and the
State.

1v) He holds office for a period of five years.

Which of the above statements are correct?

1)1, i and iii 2) ii and iii 3) 1, i, iii and iv 4)1i, iii and iv
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Comptroller and Auditor General is empowered to prescribe the size of accounts to be maintained
by the States with whose approval?

1) President 2) Prime Minister 3) Governor 4) Chief Minister
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Match the correct pairs.

Speaker of the Lok Sabha Tenure

a) Manohar Joshi 1) 2014-2019
b) P. A. Sangma i1) 2004-2009
¢) Somnath Chatterjee 111) 2002-2004
d) Sumitra Mahajan 1v) 1996-1998

Answer Options :

a b ¢ d
) v i i i
2) iioivooi i
3) i i i iv
4) i i il v
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Which of the following Union Territories have representation in Rajya Sabha?

A) Delhi B) Puducherry C) Jammu and Kashmir

D) Chandigarh E) Ladakh F) Lakshadweep

Answer Options :

1)OnlyA,B,C 2)Only A,C,D 3)OnlyC,D,E 4)Only A, E,F

GIABUD! P AT BIpANTIT S ST 3T ?
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Which of the following States have only two seats in the Lok Sabha?

1) Arunachal Pradesh  11) Goa 111) Manipur

1v) Sikkim vi) Tripura

Answer Options :

1)1,11,111 and iv 2)1ii, 1v, v and vi 3) 1,11, 111 and vi 4)1i, 111, v and vi
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Who among the following was Speaker of the Lok Sabha?

1) Meera Kumar 11) Pramod Mahajan 11i1) Sumitra Mahajan  1v) Pranab Mukherjee

Answer Options :
1)iandii 2)iii and iv 3)iiandiv 4) 1 and iii
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Competent Authority means .............. in the case of a Lake Assembly or a State Legislative
Assembly or a Union Territory having such assemblies.

1) Prime Minister 2) Minister of State ~ 3) President 4) Law Minister
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3) UdUE ¢ SIedul Al UleH TaR Fgud fRId dRdnd.

) TicH ToRaT Jega™ ol SIfBR UTH SR,

®) O aEEd Bleasel Ul AN STedeRe  ufadl,

gt SR

9) Beh 3, § ) Bk 3, B 3) Bh 9, B g) W T4
Select the correct statements about Protem Speaker of Lok Sabha.

A) Prime Minister appoints the Member of the Lok Sabha as the Protem Speaker.
B) The Protem Speaker has all the powers of the Speaker.

C) He presides over the first meeting of the newly elected Lok Sabha.

Answer Options :

1)Only A, B 2)Only A, C 3)Only B, C 4) All of the above
&) TAGRT BITBIS
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Who can initiate impeachment proceedings against the President?
1) Lok Sabha 2) Rajya Sabha
3) Supreme Court 4) Any House of Parliament

IFG T SIRTFGCHHT eI detedl DIvATE! ST T Tehles Hoddell STSat:

9) 5T aRee arege R) CllhiedT AHTEr 3eTdl

3) YR IR-IREdeT ) GagE

Any resignation addressed by the President to Vice-President shall forthwith be communicated y
him to :

1) Speaker of Council of State 2) Speaker of house of people
3) Chief Justiceb of India 4) Prime Minister
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Consider the following statements regarding a No-confidence Motion in India :

a. There is no mention of a ‘No-confidence Motion’ against the Union Council of Ministers in
the Constitution of India.

b. A motion of No-confidence can be introduced in the Lok Sabha only.

Which of the statements given above is/are correct ?

Answer Options :

1)Only a

-9

¥

-9

-9

-3

2)Only b 3) Both 4) None of the above

¥) Ae Affen

S : () g AR

g BrRIGIRN, H6e
q )Y 3fOr SURTEUCH

3-8 8-3 4-3 &3 v-19 ¢-3 -3
) YaueE 3nfor Hevs®

3-3 8-

3) YRAET e=IR—arat

) MR Fia® 9 AgeRaTaRiers

4) IS 9 ABAHT
3-3 8- y-3 &-3

§) SR HHBSA

373

TE 9 9 ¢ & TAURISRITS! IuGeh TRANUE : ANTREGRT / €3



